



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{3}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{3}{5} - \left(\frac{2}{3}\right)^2\right) =$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{1}{5} \times \frac{1}{2} - 4^2 =$$

$$\left(\frac{3}{4} + \frac{1}{6}\right)^2 - \frac{1}{2}\left(\frac{1}{3} + \frac{1}{2}\right) =$$

$$\left(\frac{1}{3} - \frac{1}{4}\right)^2 - \frac{2}{5}\left(\frac{2}{3} - \left(\frac{1}{3}\right)^2\right) =$$

$$\left(\frac{2}{5} + \frac{2}{5}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \frac{1}{5}\right) =$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{1}{4} + 4^2 + \frac{3}{5} =$$

$$\left(\frac{1}{2} - \frac{3}{5}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \frac{2}{5}\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{6}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{3}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{3}{5} - \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{4} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{5} - \frac{2}{5}\right) =$$



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{3}{5} - \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{3}{5} - \left(\frac{2}{3}\right)^2\right) = \frac{79}{900}$$

$$\left(5 + \frac{1}{4}\right)^2 + \frac{1}{5} \times \frac{1}{2} - 4^2 = \frac{933}{80} = 11\frac{53}{80}$$

$$\left(\frac{3}{4} + \frac{1}{6}\right)^2 - \frac{1}{2}\left(\frac{1}{3} + \frac{1}{2}\right) = \frac{61}{144}$$

$$\left(\frac{1}{3} - \frac{1}{4}\right)^2 - \frac{2}{5}\left(\frac{2}{3} - \left(\frac{1}{3}\right)^2\right) = \left(-\frac{31}{144}\right)$$

$$\left(\frac{2}{5} + \frac{2}{5}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \frac{1}{5}\right) = \frac{16}{25}$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{1}{4} + 4^2 + \frac{3}{5} = \frac{183}{5} = 36\frac{3}{5}$$

$$\left(\frac{1}{2} - \frac{3}{5}\right)^2 - \frac{1}{2}\left(\frac{1}{5} - \frac{2}{5}\right) = \frac{11}{100}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{6}\right) \times \frac{1}{2} - \left(\frac{1}{2} - \frac{3}{2}\right)^2 = \left(-\frac{19}{24}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{2}\right)^2\right) \times \frac{2}{3} - \left(\frac{3}{5} - \frac{1}{2}\right)^2 = \frac{47}{300}$$

$$\left(\frac{1}{4} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{5} - \frac{2}{5}\right) = \frac{37}{80}$$